
SAP ABAP table ROIGSVC {Internal Table - Transport Unit in Shipment}

ROIGSVC

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

VEH_NR [NUMC (3)]

TU_NUMBER [CHAR (10)]

TU_TYPE [CHAR (4)]

WGT_UOM [UNIT (3)]

VOL_UOM [UNIT (3)]

DIM_UOM [UNIT (3)]

EQUIP_NR [CHAR (18)]

SHNUM_PRV [CHAR (10)]

SHNUM_NXT [CHAR (10)]

VEH_NR1 [NUMC (3)]

TPU_NR1 [NUMC (3)]

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 ROIGSVC-EQUIP_NR = EQUI-EQUNR 
0..N

0..N

OIGC

CLIENT [CLNT (3)]

TU_NUMBER [CHAR (10)]

 ROIGSVC-TU_NUMBER = OIGC-TU_NUMBER 
0..N

1

OIGS

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

 ROIGSVC-SHNUMBER = OIGS-SHNUMBER 

0..N

0..N

 ROIGSVC-SHNUM_NXT = OIGS-SHNUMBER 0..N

0..N
 ROIGSVC-SHNUM_PRV = OIGS-SHNUMBER 

0..N

0..N

OIGSV

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

VEH_NR [NUMC (3)]

 ROIGSVC-VEH_NR = OIGSV-VEH_NR 
0..N

0..N  ROIGSVC-VEH_NR1 = OIGSV-VEH_NR 
0..N

0..N
OIGSVC

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

VEH_NR [NUMC (3)]

TPU_NR [NUMC (3)]

 ROIGSVC-TPU_NR1 = OIGSVC-TPU_NR 

0..N

0..N

T000

MANDT [CLNT (3)]

 ROIGSVC-CLIENT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIGSVC-DIM_UOM = T006-MSEHI 

0..N

0..N

 ROIGSVC-VOL_UOM = T006-MSEHI 

0..N

0..N

 ROIGSVC-WGT_UOM = T006-MSEHI 

0..N

0..N

TOIGC

CLIENT [CLNT (3)]

TU_TYPE [CHAR (4)]

 ROIGSVC-TU_TYPE = TOIGC-TU_TYPE 

0..N

0..N


